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Question 1.Select the related word/letters/number from the given alternatives.
20 T el T ¥ Tafq Weg/31&Rl/TRe 3 9T
Cell : Cytology:: Birds: ?

DIRIDT : HIRIHT-TATH :: Tef: ?
Options:

1) Odontology

ga-fasm

2) Mycology

DHdh-

3) Ornithology

geit-fase

4) Etymology

Correct Answer: Ornithology
gaf-fas
Candidate Answer: Ornithology

gef-fagm
Question 2.Select the related word/letters/number from the given alternatives.
R ™ el § O Jafia wea/s1eRl/Te &1 gHu

DHLP:WSOK::FINR: ?

Options:
1) UQMI

2) TPLH
3) SOKG

4) VRN]
Correct Answer: UQMI
Candidate Answer: UQMI

Question 3.Select the related word/letters/number from the given alternatives.
2 M fawent & T TafRia g/ 31eRY/Rem % giul

2:10::26:?

Options:

1) 50

2) 36

3)42

4) 20
Correct Answer: 50
Candidate Answer: 36
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd word/letters/number pair from the given alternatives.

23 M et o T faww Treey T SieR g g
Options:
1) EHJ

2) IML
3) PSR

4) VYX
Correct Answer: EHJ
Candidate Answer: EHJ

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

23 W et o § faww ey = S1eR g 9|
Options:
1) Tomcat

2) Baby
3) Fawn
foft &1 =

4) Cub
Xdh

Correct Answer: Baby

Candidate Answer: Tomcat

Question 6.

For the following questions
Find the odd word/letters/number pair from the given alternatives.

33 T faweul © 9 favm Yreey T 18R g g
Options:
1) 11

2)17
3) 19

4) 21
Correct Answer: 21
Candidate Answer: 21

Question 7.Arrange the following words as per order in the dictionary.
fafiied <Isal oI s H T T 1 & SgUR Fafeyd Hifor

1.Patriot 2.Pastor 3 Patron 4. Pattern 5. Pastern
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1)5,2,3,1,4
2)5.2,1,3,4
3) 5,2,4,1,3

4)5,2,4,3,1
Correct Answer: 5,2,1,3,4
Candidate Answer: 5,2,1,3,4

Question 8.A series is given below with one term missing. Choose the correct alternative from the given ones that will complete the series.

F2 ww 1y o man B, o ue U gw 71 Ry et # @ av wEl fawed g
SCD, TEF, UGH, ?, WKL

Options:
1) CMN
2) VII

3) VD)

4) 0T
Correct Answer: VIJ
Candidate Answer: VIJ]

Question 9.A series is given below with one term missing. Choose the correct alternative from the given ones that will complete the series.

H2 te a3y 3 man 8, o U ue g 71 Ru e fiwedt & I 97 uet fawew g

124, 235, 346, 457, ?
Options:
1) 455

2) 465
3) 565

4) 568
Correct Answer: 568
Candidate Answer: 568

Question 10.F is the brother of A. C is the daughter of A. K is the sister of F, G is the brother of C. Who is the uncle of G?

FABUERIC AP TRNEIK FPTEIRIG CHIUS S GHI IR HH @ ?
Options:
1)A

2)C
3)K

4)F
Correct Answer: F
Candidate Answer: F

Question 11.If Jhansi is 12 ahead in rank of Prabha, who ranks 15th from last, then how many students are there in the class if Jhansi ranks 4th in order of merit ?

AP A IHT T 12 T 3T & SR UM MV BF F 151 ¥p R g1 I IR AR PH A QA A R g A ST BT H [P 3F 8 ?
Options:
1) 23

2) 27
3) 30

4) 31
Correct Answer: 30
Candidate Answer: 30
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Question 12.From the given words, select @mwm@adtednfmmewwwweqm\a@h s.in
Fufofaa o & ¥ a5 wrea AT S 3T 7T Xsg & 31eRT BT TGN S 8T SR S Tl § |

ENVIRONMENT

Options:
1) ENTER

2) METRE
3) IRON

4) MOMENTUM
Correct Answer: MOMENTUM
Candidate Answer: MOMENTUM

Question 13.If 'BASKET' is written as 'TEKSAB' how can 'PILLOW' be written in that code?

e Bt Hs W A 'BASKET' H1 'TEKSAB ' foraT o €, o St i HIon & 'PILLOW! T ) ferar s 2
Options:

1) LOWPIL

2) WOLLIP

3) LOWLIP

4) WOLPIL
Correct Answer: WOLLIP
Candidate Answer: WOLLIP

Question 14.If '+' means '-' and '-' means 'X', 'X' means '+' and '+' means '+'then2 -6 x6 +2=7?

o+ waf g, B BN, XFT B R BT RHA2:6X6+2=7
Options:

11

2)0

3) 10

4)5
Correct Answer: 5
Candidate Answer: 5

Question 15.If 6 x 9 x 3 = 963 and
4x8x5 =845,
then9x4x7="7?

T 6x 9 x 3 = 963 3R
4x8x5=845,dl
9x4x7=7?

Options:
1) 974

2) 479
3) 497

4) 749
Correct Answer: 497
Candidate Answer: 497
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Question 16.Select the missing number frof )@yt doaced from www. qm aths.in

fau U et # ¥ g i T B ?
3 5 9
4 b ?
3 7 2
36 210 36

Options:

1) 4

2)3

3)2

4)1

Correct Answer: 2
Candidate Answer: 2

Question 17.Ashok went 8 kms south and turned west and walked 3 kms. Again he turned north and walked 5 kms. He took a final turn to east and walked 3 kms. In
which direction was Ashok from the starting point?

3r2iiep 8 fop. 7. afeor &Y iR e ok Ul &Y 3R geaR 3 b, =@ fhR 9 IR Y 3R gt &R 5 b, Tem o # 9 gd e @Y 3R gt ok 3 b 7@
RN GRS WH T by G & o1 2

Options:

1) East

2) North
IR

3) West
LiE]

4) South

afgmr

Correct Answer: South
aferor

Candidate Answer: South
aféror

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Ahimsa should be basic principle of human beings. All of us should practise Ahimsa.

Conclusions: I. We all know the real meaning of Ahimsa.

Conclusions: II. Ahimsa promotes global harmony.

fufafad Uy o Ue a1 3l gaqen A T B, g S &) sk s/ARIdny, 1 3R 11 e T €1 3iues! [ %31 § & aader I § 918 98 9Haa: U aut 9 fig
Tiid Bl 811 3mueh! i e B 6 U U gaaen # ¥ wi-ar Rl 0§ 9t ey /amadr e o Sear @ ?
IJHIA : 1 HHd Siia 1 Hd Rigid o1 arfew| 8 9l &1 sifg=ar sror =gl
ey 1: g Wit 3R 1 ardfde 3 S B
s 2 : sifgar 3 TieTS 3 Fgrar &t B
Options:
1) only conclusion I follows
I
2) only conclusion II follows
11 Apaar g
3) Neither I conclusion nor II follows
ey 1 @R 11 71t Rpard §

4) Both conclusion I & II follow

f=p 1 3R 11 e §

Correct Answer: Neither I conclusion nor II follows
s 1 &R 11 7 Fioperal &

Candidate Answer: only conclusion II follows

R Ay 11 Ao &
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Question 19.0f a cubical container, all the §)f@aniI%H reol Mn@@ﬂgwww.qmam@aim inside. Which symbol is oppsite the face

having C?
T T HeR & | Wit B Bah! § siex U BT 7u Iuaon o) fufa o gxifa g fir-fie forg sifrd fu mu g | s-wr s cF diw € 2

% B X X

Options:
1)z

2)B
3) X
a4y

Correct Answer: Z
Candidate Answer: Z

Question 20.Identify the diagram that best represents the relationship among classes given below
Minutes, Days, Months

I5 3@ gAE St 2 Ry e aif & fg wrey o 9t g 3|
fife, fam, mel
Options:

1)

2)

Correct Answer:
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Candidate Answer: Downloaded from www.qmaths.in

©

Question 21.Which answer figure will complete the pattern in the question figure?

HH- IR B U B F Ty Bl G Haft 2

A AL
N
P
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Candidate Answer: Downloaded from www.qmaths.in

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

39 IR AP B gFT R vy el FiRa &

>

Options:
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Candidate Answ

@
=

U \/)

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I v Srrepfat o SR fm SR BT Bl HigA, Piew aUl Wi $ 15 98 64 SATHi S faars & |

S
PR A e
IR T

Opt;ion-s B -
1)
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Comect Arewere Downloaded from www.qmaths.in

.t

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T Y01 T MN YT TR T S <Y & 778 SR SMpfaat H W BIF-T el U= SM1epfal o7 Tt wfefa gt 2

| | o |
|
ad
. N
Options:
1)
Sa
2)
<a
3)
{
5 BS5
I
4)
53 5 s
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CorrectAnswer: Downloaded from www.qmaths.in

Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., G can be represented by 03, 12, etc., and 'L' can
be represented by 57, 65, etc. Similarly you have to identify the set for the word 'DATE'

Frafef@d us & fReed! § Ry Ty Som-gwg, 3ari & ) @il gRI exiu Tu g, O & R Ry 7w a) sreygl & &1 oty 1 & & 3R tfe o G 0 A 4 db S B, 3R
T I % 5 9 qP, [ Y TF 31eR B! Ugd SU! U SR aTa o W T GRT &xITaT S Habll 3| IETERYT & o 'G' &1 03, 12 31 FRT S S obell &
qUT'L" B 57, 65 IS GRI ST bl B | 3 RE T AU 3T 5T Usg 'DATE' & o T & ugaH 8|

[oToJaT2]a]a] [ [s[e[7]e]?]
l[o|p|T|s|e|[n| [5]|Aa[e]|L|[K]n
iz'_r sle|n|o]| (e[| |[a]eE
[2]|s|e|N[D|[T| [7]|k|[1]|a|E]|L
ira"G N|D|[T][s] BiE'LiK 1| A
|4[n|p[T[s|a]| [o|1[AE|L]|K
Options:

1) 23, 68, 24, 97
2) 14, 96, 11, 85
3) 23, 96, 40, 85

4) 32, 89, 10, 68
Correct Answer: 23, 68, 24, 97
Candidate Answer: 23, 68, 24, 97

Question 26.MUDRA Bank has been launched to help

a1 S fhge! Terd & o = SIS R 2
Options:
1) Small business

TG HRIGR

2) Marginal farmers
3) Poor women

4) Rural sector

orfior &

Correct Answer: Small business
g

Candidate Answer: Small business

Y HRIGR
Question 27.Which of the following controls the insurance business of India?

YRA H R & 3 oF A SRISR H) i sarg ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options: Downloaded from www.qmaths.in

1) RBI
RT3,
2) IDBI

3T S o

3) SEBI
Tt

4) IRDA
3. 3RS

Correct Answer: IRDA
3. 3R.ELT

Candidate Answer: IRDA
ISR

Question 28.The Speaker of Lok Sabha addresses his letter of resignation to the

T TUT 37eTef 3T AT O oy aiifild et &2

Options:

1) President of India

YR & AU

2) Prime Minister

PRIEEEC

3) Deputy Speaker of Lok Sabha

BT o SUTHE

4) The Chief Justice of India

URA & YT TR

Correct Answer: Deputy Speaker of Lok Sabha

BT & JUTHE

Candidate Answer: Deputy Speaker of Lok Sabha
F UL

Question 29.Who presided over the first session of the Indian National Congress?

YR AT DRG & YU T B e g i ?
Options:

1) A.O. Hume

T30, 5gm

2) Surendranath Banerjee

3) W.C. Banerjee
T, Y. FS

4) Badruddin Tayyabji
Fa=GaH daget

Correct Answer: W.C. Banerjee
Toey, Y. IS

Candidate Answer: W.C. Banerjee

B, 3. St

Question 30.Which of the following writers has called Akbar's Din-i-Ilahi as a monument of his folly, not of wisdom?

Ffofed ® 3 frg TE® 7 3R & EH -T- AR B 1SS! TEdT $I, 7 5 JRH 31 TIRS' He1 32
Options:
1) Bgdayuni

2) Vincent Smith
ffde Py
3) Barni

4) W.Haig

S, 11

Correct Answer: Vincent Smith

e gy

Candidate Answer: Vincent Smith
e fory

Question 31.Which of the following region in India is now regarded as an "Ecological Hot Spot"?

fr=fafed # @ HRa &1 S &7 TRfRufdeT sifa- fhamiia wer (glewme) AT e 2
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Options: Downloaded from www.qmaths.in

1) Western Himalayas
2) Eastern Himalayas

3) Western Ghats

giget are

4) Eastern Ghats

ufgft ure

Correct Answer: Western Ghats
e

Candidate Answer: Eastern Ghats

ufyet e

Question 32.The Beaufort scale is used to measure:

¢ Tl (TAM) J 9T HIT ST 872
Options:
1) Atmospheric pressure
Qi
2) A!titudes of mountains

3) Wind velocity

EEIESKRIIG)

4) Intensity of earthquakes

YHH B clierdll

Correct Answer: Wind velocity

REICIRIIG]

Candidate Answer: Altitudes of mountains

Y 9 e
Question 33.The waste management technique that involves the use of micro-organisms to remove or neutralize pollutants from contaminated site is called

PRI Y= P 3G YOI &Y 1 HE ¢ ToraH Tiivsd T § UGS &1 geH a1 Foryidt &= & T ged Sia o1 vaiT fsar smar g 2
Options:
1) Bl_io sensor

2) Bio magnification
Tatih
3) Bio remediation

4) Bio concentration
S 0T
Correct Answer: Bio remediation

Candidate Answer: Bio remediation

Question 34.In IT networking, which of the following device is used in physical layer?

T Mreifest Aeafdr o i giea ) gt § 3 SF-0 gfea o1 ua difde wa (e aw) d 8iarg 2
Options:
1) Repeater

2) Router

RICLeRy

3) Transport Gateway
T ed

4) Bridge

forat

Correct Answer: Repeater

Candidate Answer: Router

Question 35.The purest form of water in nature is

i i U &1 I o TU FNR 2

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options: Downloaded from www.qmaths.in

1) Rain water

Ty} B I

2) Lake water

ENEISE

3) River water

T BT IA

4) Sea water

T PISd

Correct Answer: Rain water
Iyl &1 Id

Candidate Answer: Rain water
auf o7 oa

Question 36.The source of energy that causes the least global warming is

3ol T a8 BIH-T1 TN © S Y& HH Y Seld dIoAH aerar s ?
Options:
1) coal

2) Geothermal energy
3) Natural Gas

4) Petroleum

<

Correct Answer: Geothermal energy

Candidate Answer: Geothermal energy

Question 37.The constellation 'Sapta Rishi' is known to Westerners as the

TRIUST F-BR 1 ufe PRl g ™ F o § 2
Options:

1) Seven Monks

Ja diw

2) Alpha Centauri

ST YRt

3) Big Dipper

ICURRLH

4) Small Bear

wia o

Correct Answer: Big Dipper

e fewm

Candidate Answer: Alpha Centauri
ST YRt

Question 38.Bridge is the technique used in
foror foret aruemlt 9 aTelt et § 2
Options:

1) Athletics

2) Wrestling

3) Weight lifting

4) Karate

Correct Answer: Wrestling

Candidate Answer: Wrestling

Question 39.Which of the following books is called the 'Bible of Socialism'?

fffea & 3 5w gwae &) 'TuTeaTE B e $Ed § ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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1) Economics of Welfare
SHAMHAT 3T dABIR

2) Das Capital

TN Ffued

3) Value and Capital

I Tus Hfued

4) Asian Drama

TRRE M

Correct Answer: Das Capital
1538

Candidate Answer: Value and Capital

I s Hivea

Question 40.Which country recently detonated its first hydrogen bomb?

FfRea o @ 5w <=1 7 31T 7w gIRgIe 99 &1 g1 | favwie fam
Options:
1) North Korea

2) South Korea
SfeoR Sifvar
3) Iran

4) Libya
wifean

Correct Answer: North Korea

It ik

Candidate Answer: North Korea

Il BiRar

Question 41.The Swarna Jayanti Shahari Rojgar Yojna (SJSRY) mainly aims at creating employment opportunities for

Tauf SR 2Edt ISR IS (SISRY) BT T e 58 TR & ATHIR & AR ST~ HRAT S ?
Options:
1) both self employment and wage employment in urban areas
R & A, 3R A '
2) self employment in urban areas only
Had W &1 § W IR
3) wage employment in urban areas only
P e &A1 § Hegd IR
4) None of these
KEIE)
Correct Answer: both self employment and wage employment in urban areas

Tt & B, TRISR SR Ao AR AT

Candidate Answer: wage employment in urban areas only

Fad el & T ASTE SR

Question 42.Who is known as the 'Father of Green Revolution' in India?

YR H '‘gRa-w1 &1 S [ HeT o 8§ ?
Options:

1) G:, Paul

Sit. ard

2) Norman Borlaug

3) Van Neil
M |

4) Dr. Mithchell
3. R

Correct Answer: Norman Borlaug

AT IR

Candidate Answer: Norman Borlaug

Question 43.The component used for tuning a radio is basically a variable

e @t g F o wged vew ad: Th B E
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Options: Downloaded from www.qmaths.in

1) Resistor

2) Condenser
REEED
3) Inductor

4) Transformer

Cprrect Answer: Condenser
HYAh

Candidate Answer: Condenser
T

Question 44.Which of the following is not a donor atom?

freffad & Q S g =AY T R 2
Options:

1) Phosphorus

B RY

2) Antimony
3) Arsenic

4) Aluminium
Correct Answer: Aluminium

Candidate Answer: Antimony

Question 45.Which one of the following party was founded by Subhash Chandra Bose?

U o5 9 A FEfoRea & @ g urdf ot - &t < 2
Options:

1) Abhinav Bharat

IR CRYIG

2) Azad Hind Sena

3ToTTe o= I

3) Revolutionary Army

4) Forward Block
RS slH

Correct Answer: Forward Block
RIS salh

Candidate Answer: Forward Block
CNlca

Question 46. 0°K is equivalent to

0°K f&eid sRIeR & ?
Options:

1) 273°C

2) -273°C

3) 0°C

4) 100°C

Correct Answer: -273°C
Candidate Answer: -273°C

Question 47.The oxygen liberated during photosynthesis comes from

YeHTRI-TRAYU & SR S AHTeiio Hgl & STt § 2
Options:
1) Water

2) Carbon dioxide
Pla STE-3fdRs
3) Glucose

4) Chlorophyll
FARMGA

orrect Answer: Water

Visitwww.gmaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: Carbon dioxide Down I Oad ed fro m WWW. q m ath S. i n
P S-S

Question 48.First national park of India that was established in 1936 was named as

UYRA & 1936 T RATMUT TE T I HT T AT @1 TRT 7 ?
Options:

1) Kanha National Park

Bl I ITH

2) Bharatpur National Park

IRAR I FTH

3) Hailey National Park

T I I

4) Rajaji National Park

STl I I

Correct Answer: Hailey National Park
e It SEm

Candidate Answer: Hailey National Park

ERIRISRAE o)

Question 49.Who is the 1st Indian female amputee to climb Mount Everest?

HIFUE TG TR e arell Uud 5= 317 arelt YR Afgen S & ?
Options:
1) Arunima Sinha

2) Bachendri Pal
CEERIG]

3) Santosh Yadav
Ty aga

4) Premlata Agarwal
EEEGIRCPEI

Correct Answer: Arunima Sinha

Candidate Answer: Arunima Sinha

Question 50.The term 'Higgs Boson' is associated with

v S Xree T T R B 2
Options:
1) Nano Technology

A Eedtatt (3rfRgeR TN

2) Oncology
Jpiata

3) God Particle
e uiéswa

4) Stem Cell Research

wH I R

Correct Answer: God Particle
s wiéwa

Candidate Answer: God Particle
e

Question 51.If 100 cats kill 100 mice in 100 days, then 4 cats would kill 4 mice in how many days?

gfe; 100 fafemat 100 &7 & 100 TR ARG 7 @ 4 it 4 98 fban 37 & At 2
Options:

1) 4 days

47

2) 3 days

3fda

3) 40 days

40 f&=

4) 100 days

100 f&A

Correct Answer: 100 days
100 f&

Candidate Answer: 100 days

100 &4

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 52. Downloaded from www.qmaths.in

In AABC,DE || BC such that% =z Ifac=
5.6 cm, then AE isequalto

AABCH ,DE | |Bcsﬂwéﬁ?g=§ G AC = 5.6 THI0, AT AE TFath s’ s ?

Options:
1)4.2cm
4.2 9.4,
2)3.1cm
3.19.4
3)2.8cm
2.8 9.4
4)2.1cm
2.1 9.4

Correct Answer: 2.1 cm

2.1 9.

Candidate Answer: 2.1 cm

2.1 9.4

Question 53.If two circles touch each other internally. The greater circle has its radius as 6 cm and the distance between the centres of the circles is 2 cm. The radius
of the other circle is

3 o 3R ¥ Uh-gWR bl WY ed ¢ 1 FS I i o 6 Q.. § 3R Iaii & sl b s bl gt 2 W) B A W g ) B fpa 8 2
Options:

1)3cm

39,

2)4cm

4 3.1

3)2cm

29,

4)5cm

5 3.4,

Correct Answer: 4 cm

491

Candidate Answer: 4 cm

4 3.1

Question 54.An office opens at 10 AM and closes at 5 PM. The lunch interval is 30 minutes. The ratio of lunch interval to the total period of office hours is

TS ST UId: 10 9o YT § 3R T 5§91 §E SIa1 8| IS 30 e 1 8ia1 81 HISHIaews T 3R Hraied B $d afy BT uTd T g ?
Options:
1) 1:7

2) 1:14
3)7:1

4) 14:1
Correct Answer: 1:14
Candidate Answer: 1:14

Question 55.A Bookseller allowed 15% discount on the books sold. Sunil purchased books worth Rs.1500. How much will he have to pay to Bookseller.

TF G faghal A S 718 J&Idl IR 15% &t e | a7 Rs. 1500 & J&ids @Gl Txad faohat o1 fat 1M1 &1 YT FHRAT ghm 2
Options:
1) Rls.1200

2) Rs.1250
3) Rs.1275

4) Rs.1300
Correct Answer: Rs.1275
Candidate Answer: Rs.1275

Question 56.If the ratio between the profit and sale price of an article is 1:5, then the ratio between the sale price and the cost price of that article is:

e, T 9% & A 3R P Hed & 9 1:5 BT U 8, A 39 I F 99! T 3R AT Hedl & o9 30T 18 ?
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Options: Downloaded from www.qmaths.in

1) 3:2
2)4:3
3)5:4

4) 6:5
Correct Answer: 5:4
Candidate Answer: 5:4

Question 57.What percent of 1 day is 36 minutes?

36 e, T 37 &1 forae far=ra g 2
Options:

1) 25%

2) 2.5%

3)3.6%

4) 0.25%

Correct Answer: 2.5%

Candidate Answer: 2.5%

Question 58.
A car covers o certain distance in 25 hrs. If it reduces the speed

byé th, the car covers 200 km lessinthattime. The speed of

car is

T S S 531 25 T A ol AR &1 ATE a8 I SR AT At %:qm

& & &7 I 3=t @ A 200 Taefto w gl v waetn e R anfoy Feeeett i 2
Options:

1) 60 km/hr

60 for. /. /eier

2) 30 km/hr

30 fob. Y. /et

3) 40 km/hr

40 {1t /der

4) 50 km/hr

50 fob. 1. /der

Correct Answer: 40 km/hr
40 fo. . /eer

Candidate Answer: 40 km/hr
40 foo . /efer

Question 59.At what percent of simple interest will a sum of money double itself in 15 years?

I g I e TiA=Id F WuRY &A1 W 15 99 & g7 & et 2
Options:
1)
6%
3

3)
6%

4) 6%
Correct Answer:
6%

Candidate Answer:
6%

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Queston 0. Pownloaded from www.gmaths.in
e 0, thenthevalue uf; e is:

gl -l g a‘ri+£mrm:—rm? ?

va vab~
Options:

1)
1

Vab

2)
Jab

4)

2Vab
Correct Answer:
2

“ab

Candidate Answer:
2

Vah

Question 61.If X2+y2+72 = 14 and Xy + yz + zx = 11, then the value of (x+y+2z)? is

T x2+y2+22 = 14 IR xy + yz + zx = 11,8 (x+y+z)2 BTHA AR ?
Options:
1) 16

2) 25
3) 36

4) 49
Correct Answer: 36
Candidate Answer: 36

Question 62.
IF V2 tan28 =6 and 0° < 6 < 45°, then the value of
sinf + V3cos8 — 2tan?d is

e 2 tan26 = V6 HIT 0° < 8 < 45°,ar
5inf +3cos6 — 2tan26 T HIT FT §IE?

Options:
1) 2/3

2) 4/3
3)2

4) 8/3
Correct Answer: 4/3
Candidate Answer: 4/3

Question 63.A positive number when decreased by 4, is equal to 21 times the reciprocal of this number. The number is:

TH UFTHS TS T 4 FH TxA R T8 I9P ehH B 21 T[0T & SRIER 1 STl & | I8 TSAT TS ?
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Options: Downloaded from www.qmaths.in

1)3
2)7
3)5

4)9
Correct Answer: 7
Candidate Answer: 7

Question 64.

If tanazE,thenthevaIueofS T is

in® @ + cos®a

sin &

sina
MG tana = 2,0 ————— FTAAFIG?
sin“a + cos¥a

Correct Answer:
10
9

Candidate Answer:
10
9

Question 65.
Ifx = 134'28,}? = 327, then the value ofx +y —

- - is
Frxy iy

gt x= YIBINy= V7. dx+y - —— FAA FTE ?

wtayyt

Options:
1)8

2)7
3)6

4)5
Correct Answer: 6
Candidate Answer: 6

Question 66.

Ifx = 12 andy = 4, thenthe valueof (x + y)fis

A x = 123y = 4T + y); FAARTE?

Options:
1) 48

2) 1792
3) 4096

VisitWww.gmaths.in for tons of free study materials and latest exam updates.
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Correct Answer: 4096 Downloaded from www.qmaths.in

Candidate Answer: 4096

Question 67.In a triangle PQR, PQ = PR and 2Q is twice that of 2P. Then 2Q is equal to

T BIYS PQR #, PQ = PR 3R £Q, 2P A TR Y £Q b gd TR & 2

Options:
1) 72°

2) 36°
3) 144°

4) 108°
Correct Answer: 72°
Candidate Answer: 72°

Question 68.If the length of a chord of a circle is 16 cm and is at a distance of 15 cm from the centre of the circle, then the radius of the circle (in cm) is:

I T g &I e Bl G 16 AL, B SR 98 I & I 9 15 A, P g W T, A 9 31 Bown (A F b grft 2
Options:
1) 15

2) 16
3) 17

4) 34
Correct Answer: 17
Candidate Answer: 17

Question 69.0n 24th May 2008 the maximum temperature of Delhi, Kolkata and Mumbai were recorded as 35°C, 33°C and 34°C respectively. What was the
maximum temperature of Chennai so that the average maximum temperature of those cities would be 35°?

24 1S 2008 B, Aeeh, Biawdr 3R Has BT SHfihar auHH AT 35°C, 33°C 3R 34°C g [ 71| A=TS T SHTdhaH qIgHH T AT S 7 NG T S Sifdpay
TIIAM 35°C Bl ?

Options:

1)34°C

2)35°C
3)36°C

4)38°C
Correct Answer: 38° C
Candidate Answer: 38° C

Question 70.The diameter of a sphere is twice the diameter of another sphere. The curved surface area of the first and the volume of the second are numerically
equal. The numerical value of the radius of the first sphere is

TS T T I gER T & N BT G 8 | U8 T afthd gt 8 GOk & 3MTTa & T 31 58 I SRR 3| U8 M 31 B &7 Yemress I fad =1 8 2
Options:
1)3

2) 24
3)8

4) 16
Correct Answer: 24
Candidate Answer: 24

Question 71.The thread of a kite makes 60° angle with the horizontal plane. If the length of the thread be 80 m, then the vertical height of the kite will be

T U 1 HigN &f Tdg & WY 600 BT HI0T ST 8| TS Aig B dars 80 H. B, df U @1 SHeafer s fbamt g1t ?
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Options: Downloaded from www.qmaths.in

3)
B0m

4)
4043m

Correct Answer:
4043m

Candidate Answer:
4043m

Question 72.Study the pie chart carefully and answer the questions. The pie chart represents the percentage of people involved in various occupations. Total number
of people = 20000

fefofaa uR-ard & faft= coaamt &1 wi=id g=ifar 1 8| UB-a1E T eFyde SR HIeng iR TR W0 72 F 75 BT Saik ifre| @Rl @t et 8T = 20000

Agriculture
33.30%
Industry
30%

Transpartation
L1

How many more people are involved in service than in trade ?
YR B g & Ja1 § e Tl 3 Te e 82
Options:

1) 3660

2) 2660

3) 1660

4) 660
Correct Answer: 2660
Candidate Answer: 2660

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 73.Study the pie chart carefully amwmwide'd mmpwwvvgqm@m&iinolved in various occupations. Total number

of people = 20000

ffafad o-ard & R soaam &1 ufdwrd Siar T § 1 UE-9TE &7 SMydd 3erd BifoTg 3TR URA 10 72 § 75 BT Ik SifoTy| AT @ el RS = 20000

Agriculture
33.30%

Industry
30%

Transpartation

Service
s

0%

The ratio of the people involved in service to that of industry is
Jar H Tfera Ak 3R IERT H Wi <t BT SiguTd T ?
Options:

1) 1:2

2) 2:3

3)3:4

4) 3:2

Correct Answer: 2:3
Candidate Answer: 2:3

Question 74.Study the pie chart carefully and answer the questions. The pie chart represents the percentage of people involved in various occupations. Total number
of people = 20000

ffafad oE-ard & R soaar &1 ufd=rd ST T § | UR-91e &7 SMydd 38T Siorg 3R URA W0 72 § 75 BT Ik Sifory| Tl ot el ST = 20000

Agriculture
33.30%
Industry
30%

Transpartation
s

Service
e

The sectorial angle made by the people involved in service in the given pie-chart is

U T u-Tré # Ja1 & I A gRT a1 BIs BT e S T R 2
Options:
1) 36°

2) 90°
3) 72°

4) 108°
Correct Answer: 72°
Candidate Answer: 72°

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 75.Study the pie chart carefully ar@@wmwidg'd mmpWWWqu@ml.eiinolved in various occupations. Total number

of people = 20000

frfafad o-ard & R soaam &1 ufdwrd Sifar T § 1 U1 &1 SAMYdd 3eaa BHioTg 3R URA W0 72 F 75 BT Ik SifoTY| T B et TR = 20000

Agriculture
33.30%
Industry
30%

Transpartation
1

Service
e

The difference between the maximum number of people involved and minimum number of people involved in various professions is

TR oo & fer il ot Srfian TR SR g Te & o9 3faR b g ?
Options:
1) 2640

2) 3640
3) 6320

4) 5320
Correct Answer: 5320
Candidate Answer: 5320

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

LABYRINTH

Options:

1) MAZE

2) PATH

3) SKYSCRAPER
4) IMPASSE

Correct Answer: MAZE
Candidate Answer: MAZE

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

BARREN

Options:

1) FERTILE

2) ABUNDANT
3) HARSH

4) FALLOW

Correct Answer: FERTILE
Candidate Answer: FERTILE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Mysogynous

2) Misogynous

3) Mysoginous

4) Misoginous

Correct Answer: Misogynous

Candidate Answer: Misogynous

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 79.In the following questions, onwnslz@adedvfmm Wwwquath@miﬂas an error and click the button

corresponding to it. If the sentence is free from error, click the "No error" option.

According to scientists(A)/, there are a lot of(B)/answers about it(C)/No Error(D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

They are coming (A)/ straight to (B)/our direction.(C)/No Error(D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The building collapsed(A)/at the afternoon (B)/at about 4 o'clock (C)/No Error(D).
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The police is on his activities.
Options:

1) keeping an eye

2) keeping watchful eyes

3) keeping both eyes

4) keeping one eye

Correct Answer: keeping an eye
Candidate Answer: keeping an eye

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Are you
Options:

1) interested by

2) interested in

3) interested at

4) interested about

Correct Answer: interested in

Candidate Answer: interested in

stamp collecting?

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Your report my statement.
Options:

1) conforms

2) conforming

3) confirms

4) comforting

Correct Answer: confirms
Candidate Answer: conforms

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 85.In each of the questions, four (@A HlOR O ® fngrmea\winsanre qen@taeiyhs b§¢texpresses the meaning of the Idiom/Phrase

and click the button corresponding to it.

To get cold feet
Options:

1) Drenched

2) Fear

3) Felicitate

4) Fever

Correct Answer: Fear
Candidate Answer: Fear

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Beside the mark
Options:

1) Perfect

2) Not to the point
3) Relevant

4) Charming

Correct Answer: Not to the point
Candidate Answer: Not to the point

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

On tenterhooks

Options:

1) Happy and excited

2) In suspense and anxiety
3) Angry and irritated

4) Surprised and shocked

Correct Answer: In suspense and anxiety
Candidate Answer: In suspense and anxiety

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Property inherited from one's father or ancestors.
Options:

1) Patrimony

2) Mercenary

3) Hereditary

4) Aristocracy

Correct Answer: Patrimony
Candidate Answer: Patrimony

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who is womanish in his habits
Options:

1) Feminist

2) Philogynist

3) Effeminate

4) Feminine

Correct Answer: Effeminate
Candidate Answer: Feminist

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who is converted from one religion to another
Options:

1) Pilgrim

2) Polytheist

3) Proselyte

4) Presbyte

Correct Answer: Proselyte
Candidate Answer: Proselyte

Visit www.gmaths.in for tons of free study materials and latest exam updates.
http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDM=&appid=1a4fff78943b24af40c79deccf09bb87 27/30



9/21/2016 Staff Selection Commision

Question 91.A sentence/a part of the sente&@wmil'ngad edwaﬂeomivwwwg malth@.\inmprove the sentence. Choose the correct

alternative and click the button corresponding to it. In case no improvement is needed, click the buttoh corresponding to "No improvement".

Do you have some sugar?
Options:

1) any sugar

2) little sugar

3) small sugar

4) No improvement

Correct Answer: any sugar

Candidate Answer: any sugar

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Iago lied to Othello about his wife
Options:

1) lay

2) laid

3) lain

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

It is not possible to tell the entire story_in nutshell.
Options:

1) in a nutshell

2) in the nut

3) in a shell

4) No improvement

Correct Answer: in a nutshell

Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

It is all but same to me whether I am transferred to Mumbai or Kolkata.
Options:

1) all or same

2) all the same

3) all one

4) No improvement

Correct Answer: all the same

Candidate Answer: all or same

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Despite his father's financial assistance he was always hard on
Options:

1) hard in

2) hard up

3) hard out

4) No improvement

Correct Answer: hard up

Candidate Answer: hard out

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 96.A passage is given with 5 que@rgwmaﬂ eda¥WWWW§qmth@.tiﬂCh question out of the four alternatives and

click the button corresponding to it.

Even the majority of elders turn their homes into hives of worry as they have too little to do in too much time. Those who have retired thus find retirement tiresome
when hobbies, instead, could have turned it into a period of creativity and contentment.

This common problem of inability to utilise leisure pleasurably and profitably is not restricted to Indians. In fact, Japanese are the worse sufferers. Their weekends,
rather than increase their enjoyment of life, have wreaked havoc on their health and happiness. Unable to while away the long, unstructured hours, many of them
have become addicts to coffee or hard liquor, and have even taken to gambling.

How has this social malady come about? Ironically, the syllabus-loaded education system is the main culprit. It places a heavy work-load on children and youth, laying
emphasis as it does on memory rather than intelligence.

Why do a majority of retired elders find retirement tiresome?

Options:

1) Because their homes have been turned into hives of worry.

2) Because they do not have hobbies to utilise their free time.

3) Because they had nothing to do.

4) Because they had plenty of free time.

Correct Answer: Because they do not have hobbies to utilise their free time.

Candidate Answer: Because their homes have been turned into hives of worry.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Even the majority of elders turn their homes into hives of worry as they have too little to do in too much time. Those who have retired thus find retirement tiresome
when hobbies, instead, could have turned it into a period of creativity and contentment.

This common problem of inability to utilise leisure pleasurably and profitably is not restricted to Indians. In fact, Japanese are the worse sufferers. Their weekends,
rather than increase their enjoyment of life, have wreaked havoc on their health and happiness. Unable to while away the long, unstructured hours, many of them
have become addicts to coffee or hard liquor, and have even taken to gambling.

How has this social malady come about? Ironically, the syllabus-loaded education system is the main culprit. It places a heavy work-load on children and youth, laying
emphasis as it does on memory rather than intelligence.

How have the Japanese benefitted from their weekends?
Options:

1) They have increased enjoyment in life.

2) They enjoy health and happiness.

3) They use their free time to increase their enjoyment.

4) They become addicts to coffee or hard liqguor and gambling.

Correct Answer: They become addicts to coffee or hard liquor and gambling.
Candidate Answer: They become addicts to coffee or hard liquor and gambling.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Even the majority of elders turn their homes into hives of worry as they have too little to do in too much time. Those who have retired thus find retirement tiresome
when hobbies, instead, could have turned it into a period of creativity and contentment.

This common problem of inability to utilise leisure pleasurably and profitably is not restricted to Indians. In fact, Japanese are the worse sufferers. Their weekends,
rather than increase their enjoyment of life, have wreaked havoc on their health and happiness. Unable to while away the long, unstructured hours, many of them
have become addicts to coffee or hard liquor, and have even taken to gambling.

How has this social malady come about? Ironically, the syllabus-loaded education system is the main culprit. It places a heavy work-load on children and youth, laying
emphasis as it does on memory rather than intelligence.

The syllabus-loaded education system

Options:

1) Places a heavy burden on the youth.

2) Ensures that parents pay attention to the development of children.
3) Lays emphasis on intelligence.

4) Gives students a lot of free time.

Correct Answer: Places a heavy burden on the youth.
Candidate Answer: Places a heavy burden on the youth.

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 99.A passage is given with 5 que@rgwmaﬂ Ma¥WWW§qmth@.tiﬂCh question out of the four alternatives and

click the button corresponding to it.

Even the majority of elders turn their homes into hives of worry as they have too little to do in too much time. Those who have retired thus find retirement tiresome
when hobbies, instead, could have turned it into a period of creativity and contentment.

This common problem of inability to utilise leisure pleasurably and profitably is not restricted to Indians. In fact, Japanese are the worse sufferers. Their weekends,
rather than increase their enjoyment of life, have wreaked havoc on their health and happiness. Unable to while away the long, unstructured hours, many of them
have become addicts to coffee or hard liquor, and have even taken to gambling.

How has this social malady come about? Ironically, the syllabus-loaded education system is the main culprit. It places a heavy work-load on children and youth, laying
emphasis as it does on memory rather than intelligence.

The author thinks that

Options:

1) Authorities are more appreciative of the syllabus-loaded education system.
2) Hobbies play an important role in changing the unfortunate situation.

3) Co-curricular activities are discouraged.

4) Only Indians suffer from inability to utilise leisure.

Correct Answer: Hobbies play an important role in changing the unfortunate situation.
Candidate Answer: Co-curricular activities are discouraged.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Even the majority of elders turn their homes into hives of worry as they have too little to do in too much time. Those who have retired thus find retirement tiresome
when hobbies, instead, could have turned it into a period of creativity and contentment.

This common problem of inability to utilise leisure pleasurably and profitably is not restricted to Indians. In fact, Japanese are the worse sufferers. Their weekends,
rather than increase their enjoyment of life, have wreaked havoc on their health and happiness. Unable to while away the long, unstructured hours, many of them
have become addicts to coffee or hard liquor, and have even taken to gambling.

How has this social malady come about? Ironically, the syllabus-loaded education system is the main culprit. It places a heavy work-load on children and youth, laying
emphasis as it does on memory rather than intelligence.

The passage tells us that

Options:

1) Hobbies are a waste of time

2) Hobbies play a crucial role in physical and mental development.
3) Hobbies wreak havoc on man's health and happiness.

4) Hobbies can turn us into addicts of coffee, liquor or gambling.

Correct Answer: Hobbies play a crucial role in physical and mental development.
Candidate Answer: Hobbies play a crucial role in physical and mental development.
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